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'Dependent Varlable Y

DB |

Source . | | DF sum of Squares F Value Pr > F
‘Model 2 . 45384.0000000 10.83  0.0040
Error 9 18864.0000000 |
Corrected Total 11 64248 .0000000

N 'R-Sqﬁare. - : C.V. _ Y Mean
"_0.706388 | o 12.14379 377.000000

Source " DF  Type I SS F Value DPr > F
BRAND 2 45384.0000000  10.83  0.0040

Scheffe’s test for variable: Y
Alpha= 0. 05 df= 9 MSE= 2096
" Critical Value of F= 4, 25649
Minimum Significant Difference= 94.454

 Means with the same letter are not significantly different.
Scheffe Grouping ~ Mean N BRAND
A 441,00 4 A
Coh _
A ©396.00 4 C

B 294 .00 4 B
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